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® 10cm @9cm ® 8cm @ 7cm
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(27152 2Hol)
= (ZYo]) x2+ (FHol)olEE
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10X 10x3.14x2+2x 10 x 3.14 x| |=1193.2
628 + 62.8 x[_|=1193.2

62.8 x| |=565.2

[ ]=9(cm)
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® 150.76cm3 (@)141.3cm3 @ 132.66cm?

@ 130.88cm? ® 114.08cm?

il

o] ¥tx]5)=18.84 + 3.14 + 2 = 3(cm)
59 H1l)=3x3x3.14 x5 = 141.3(cm?)
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(50 x 2% 3.14) x4 + 120 x 2

= 1256 + 240 = 1496( cm)
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@ 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88cm?

(U] 9F)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(RH Q] BFZ] 5 )= 12.56 + 3.14 + 2 = 2(cm)
(BYlo]) =2x2x3.14x24 1256 X5

2
25.12 + 62.8 = 87.92( cm?)
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@D 6x6x3.14 x 6 = 678.24( cm?)

@ 4x4x3.14x15 = 753.6( cm?)

® 7x7TxT7=2343(cm?)

@ 3 mAjE] o] Zol& | Jem =t 51

[ Ix[ Jx6=216,[ |x[ ]=36,] ]=6(cm)

b Huls 6 x 6 x 6 = 216( cm?) YUt}

® @Hol ¥tz 50] 15.7 + 3.14 + 2 = 2.5(cm)

ojB® Hul= 25x25x3.14 x 6 = 117.75( cm?) Y},
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@ 301.44 cm? @ 414.48 cm? (@)527.52 cm?

@ 590.32 cm? ® 653.12 cm?

7} 47159 IYol= 4% 3.14 x 4 = 50.24 (cm?)

U 97159 dylol= 8 x3.14 x 4 = 100.48 (cm?)

o 947159 dyolE 12x3.14 x 4 = 150.72 (cm?)

WH O] Woli 6x 6x 3.14 = 113.04(cm?) °|2&

A B ol 50.24 + 100.48 + 150.72 4+ 113.04 x 2 = 527.52
(em?) 7} Yt
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((@803.84(1113 @ 1756.12cm? 3 608.44cm?
@ 589.76cm? ® 456.12cm?

(6x6x3.14%x8)—(2x2x3.14x8)
= 904.32 - 100.48
= 803.84(cm3)
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(FHol)=2x] |x3.14x10=251.2x 2

[ ]=251.2+3.14 + 10 = 8(cm)




